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Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

English version is considered to be Authentic.

Explain following with example:

(1) Peat head power plant ( 2) Super power plant ( 3) Total energy power
plant ( 4) Captive power plant (5) National grid

Explain following circuits of modern thermal power plant with neat sketch
(1) Coal and Ash handling circuit (2) Condenser cooling water circuit

Explain any two methods of improving efficiency of Rankine cycle with T-S
and H-S diagram.
Explain Reheat Rankine cycle with T-S and H-S diagram and state its
advantages and disadvantages.

OR
A thermal power plant operates on reheat Rankine cycle. Steam at a boiler
pressure of 50 bar and temperature 300° C is expanded in H.P. turbine till it
becomes dry and saturated. The steam is then reheated up to the initial
temperature and is expanded in L.P. turbine up to the condenser pressure of
0.1 bar. Find out Dryness fraction, Pump work, Net work done and Thermal
efficiency of the cycle.

Define high pressure boiler and explain working of Benson boiler with neat
sketch and state its advantages and disadvantages.
Explain chain grate stoker furnace with neat sketch and state its advantages
and disadvantages.

OR
Explain various methods of super heat temperature control with neat sketch.
What is pulverized fuel? Explain different components of coal pulverizing
system with neat sketch.

List different methods of steam turbine governing and explain any one with
neat sketch.
Explain:

(1) Advantages and disadvantages of surface condenser.

(2) Fixed cost, Operating cost and Tariff with reference to power plant

economics.
OR

Explain effect of load variation on various parameters of steam power plant
with neat sketch.
Explain basic elements of Nuclear reactor with neat sketch.

Explain CANDU reactor with neat sketch and state its advantages and
disadvantages.
Explain basic elements of Hydro power plant with neat sketch.
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Explain following methods of improving performance of Gas turbine power
plant with T-S diagram.

(1) Regeneration (2) Intercooling
List various systems of Diesel engine power plant and explain any two with
neat sketch.
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